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Question Number : 1 Question Id : 4387197041 Display Question Number :

Time : N.A Think Time : N.A Minimum Instruction Time : 0
If the function f: R — R is defined by f(x) =x | X | . then

f:R— R @38 f(x)=x|x| ™ 28Da208,
Options :
f is one-one but not onto

f ©93(Sa0, 57 Do ST
1. ®

f 15 onto but not ons-one

f RodRaw, 570 IS ST
2. %

f 1s both one-one and onto

f e93¢S500 B0BaI oW
3. ¢

Yes Is Question Mandatory : No Calculator : None Response



f 1s neither one-one nor onto

. f 3¢S0 57, RodRAIT ST
4,

Question Number : 2 Question Id : 4387197042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

2— | x|,

The domain of the real valued function f{x) = - is
foc b

f(x)= i 9D TTAD mxué 2D200de a0, Pelat- ot
3—|x| = 2 B

Options

| x (0 0)

) % (-0.-3) U (2.2)

3 % (-, -3] U (-2.2) U [3.=)

Question Number : 3 Question Id : 4387197043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A and B are nxn square matrices such that (2A+B)? + (A-3B)* = 5SA* - 2AB+10B’
then. ABAB =

(2A+B)” + (A-3B)" = 5A° - 2AB+10B” exabjetaorr el A, B &0 nxn 53068

SrHETS, ABAB =



Options :
1 .
— [(A—B)* + (A+ B)?]
| % 2

, « 4AB

1
2@+ B (4 B)]

, v A'B’

Question Number : 4 Question Id : 4387197044 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

5 g =7 1 2 3
If ( b -7 ¢ ) 1s the adjoint of the matrix (2 3 1). then a+b+ct+d =

-7 d -1 3 1 2
1 2 3 5 g8 =7
(2 3 1) 09D SIGS WS, VAP LGS ( b -7 ¢ ) oS, atbtetd =
3 1 2 -7 d -1
Options :
Lv 38
3. % 0
2



Question Number : 5 Question Id : 4387197045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1 -1 0 =2
The rank of the matrix A=|—4 4 0 8 |is
-2 1 2 4
1 -1 0 -2
A=|-4 4 0 8 |2rssowg &8
=@ (3. B Om i
Options :

% 1

2.530

bt
o
L]

Question Number : 6 Question Id : 4387197046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



1 1 a+1

1 at+1 1
a+1 1 1
values of a 1s

ItA= 1s not an mvertible matrix. then the sum of all the

1 1 a+1
A=] 1 a+1 1 | 036 S 20Dow Args 5e'S, a coS), Y
L i 1 1
Qendw 2wdo
Options :
1Lv =3
2 % 1
3. % !
4. % 0

Question Number : 7 Question Id : 4387197047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If (x —iv) /3 = 2 — i3 and the point z = (x. v) lies on the line E + % = k. thenk =
W

(5 — i.‘v"Jl"lf' =2 — i3 080l Dok z = (x. y) WOIB HEVED % + % =k
Ny

.

Sotd, k=

Options :
1. B 16



| B

Question Number : 8 Question Id : 4387197048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If

2 : .
5F ;|= 2. then the maximum value of |z] is
2
|z + ;‘= 2 oo, |z| e, (0% e
Options :
1 G -"ﬁ"fE ‘E‘ _l_
vz—1

!

3.% VE

mfinity

4 % eoocho

Question Number : 9 Question Id : 4387197049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A complex number z among the following which does not satisfy z° + 271 =0 is
2 +271=0 & 32 DO $0b TLS'D 2,8 DoSg Dos) 2
Options :
(33 —3i) /
L2

1.¢

2. % —31

(3v3 + 3i) /
2

3. %

(—3v3+ 3;')/2

4. %

Question Number : 10 Question Id : 4387197050 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If |z — 3i| + |z + 5i|] = 4. then the locus of z is
|z — 3i| + |z + 5i] = 4 eso0& 2 B8, DotdDd o

Options :
No such point z exists

eerot) Do) Z H(HJho T
1. ¢ .



Ellipse
&'9} ;a'?_?c!

Parabola

3 % T walo

Circle

&ﬁa?_:?m

Question Number : 11 Question Id : 4387197051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of pairs of consecutive positive even integers such that the sum of their
squares 1s 290 1s

T8 ST D080 290 BADIEN) DGR B PG R 2B RVoad]
Options :

v 9

I



Question Number : 12 Question Id : 4387197052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
X

The range of the function f(x) = e e
4 . S s
Peodo f(x) = e ABWE); T
Options :

e l
L

_1 T

o l
5 @ L7

_1-

_11_
3 % 11
gx L7l

Question Number : 13 Question Id : 4387197053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
- 2 2 xz -
If yv'+z'=ayz. z2+x’=bxz. x’+y’ = cxy then. the value of 32 + % 15

-

d

.
2 7 3 o < XZ Y
+z =ayz. z +x =bxz, x+y~ = cxy ©0na i e DD

Options :

7 2 3
| % a-b e

5 % a’+b+c’



3  ac-b

4. ® ab-c

Question Number : 14 Question Id : 4387197054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

< A 2 2 i 5
If a. P are the roots of the equation 2x +6x+k = 0. then the maximum value of

-+
2=

™| 2

when k=0 1s

2x4+6x+k = 0 POLGEIANLIL o.f oo dareren woan k<0 ©ondiNy@,

+
2=

™| 2

Al (B Ded
Options :
1. % 0

]

4.9

Question Number : 15 Question Id : 4387197055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If "°C,+B™C _4+B "C ,+" C._;="C holds foralln >r = 3, then (BB")=

CCABIC,HB TG =00 vy 0.2 £ 2 3 Doy BRnby,
(BB) =

Options :
| x (L9)

, % (5.1)
Lo (33

L x 42

Question Number : 16 Question Id : 4387197056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A student 1s to answer 10 out of 13 questions in an examination such that he must

choose at least 4 from the first five questions. The number of choices available to
him 1s
28 P 28 DOES'D 13 DI 0S” Ao 4 DTV VG 5 DI) VL

DAY S, 10 DI L 2IT7ew Tosrd. es K‘Jm“égé (0 BISTO Vo)

Options :
v 196

L w140



168

L x 176

Question Number : 17 Question Id : 4387197057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of ways of dividing 200 dissimilar things into 10 groups each containing
20 elements is

200 DD SRPO 10 AIFD AT, w8 8) BrDS° 20 SHRVDHLV0GELT
D2ensnidB dore Doy

Options :
|« (200)! / (201)*. 10!
, % (200)!/ (101)". 20!

5 » (200)!/ (207, 10!

4 % (200)! 7 (101)* . 20!

Question Number : 18 Question Id : 4387197058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In how many different ways can three persons A.B.C having 6.7 and 8 one rupee
coins respectively. donate Rs.10 collectively?

AB.C 93 S DSV A0 DORM 6.7 ododw 8 s ErJron THaven
o). DB D0l & SSEVI LY 2D 10 cordroben mradL Bdohy dorv Qo

oh?
Options :

2.% 06
3. & 56
4, % 60

Question Number : 19 Question Id : 4387197059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ll = | Ax+B Cx+D
= +
x4 gt el P ot P

= 3A+2B+3C=

Options :
| % D



Question Number : 20 Question Id : 4387197060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

. X
If 1-cot 23° = T then x =
—cot22

X
l-cot23%= —— EI0ED, X =

0
1—cot22

Question Number : 21 Question Id : 4387197061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. sin2ZA + sm2B + sin2C =
ABC &2020¢5° sin2A + sin2B + sin2C =

Options :
4 sinA sinB sinC
1.¥



5 % 2 sinA sinB sinC

3 % 4 cosA cosB cosC

4 % 2 sinA cosB cosC

Question Number : 22 Question Id : 4387197062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let tan30° and tanl5® be the roots of the quadratic equation
X +av+b=0, then 1+a—b=

Crar+hb=0 ed S50 DOEGme  orerey tan30” Sdaiw  tanl5? esawd,
l+a-b=
Options :

.v 0

3. % ”b

b

a b

Question Number : 23 Question Id : 4387197063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
COs5 X
tanx+——=
l4+smx



Options :

| fan2Zx

Question Number : 24 Question Id : 4387197064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. if r; = 15> r3. then which of the following is true?
ABC Gzt 1) > 1> 13 0008, $06 T8S" D6 v80?
Options :

. W ﬂ::"b:?"C

a=b. b=c

2. %

;3 % a<b<c

4 % axh b=

Question Number : 25 Question Id : 4387197065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If kR is such that the equation 2cosh’ x=3sinhx+% has no real solution. then

which of the following is correct?
keR @38 2cosh’ x=3sinhx+k 2S6e0% T FGD T Do &oll 308
TS B DB(B007

Options :

[\
i
DDl“—J Qolu,l |\""‘.’.l'_'_l

EAN
#
oo | L

Question Number : 26 Question Id : 4387197066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. if £A4=60". then (atb+c) (btc-a) =
ABC @z002085°, £A4=60° e2038, (atbtc) (btc-a) =

Options :
1. ¥ 3bc



2abc

3 % abc

a+b+c

Question Number : 27 Question Id : 4387197067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a triangle ABC. if ri;=12. =18 and 13 = 36. then b =
ABC $20208°, 1;=12.1,= 18 2080300 13 = 36 @008, b =

Options :

2. % 6

3/
3.¢ 24

4 % 18

Question Number : 28 Question Id : 4387197068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If ry. 1; and r; of a triangle ABC are in Harmonic progression. then a. b and ¢ will be
n

ABC £23022085°, r1. 12 Q08030 13 40 TR € 3C 5° &ofd, 3, b 2000w € e D

345" gotron?



Options :

Arithmetic progression

8905 36
1.

Geometric progression

o w A 2

Harmonic progression

oS S 36

3. =
Arthmetico-Geometric progression
908 — D 36

4. %

Question Number : 29 Question Id : 4387197069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a.b be two non collinear vectors and the vector a + b bisects the angle between

a and b . then

a.b o VBHAT 5D Tod VAW HBa a.b © WSETTI) a+b WO
RVBED B

Options :
a|=[f

1.¢



angle between a.b is 0° (or) T

a.b o :x.ur;ﬁg%‘eao 0 S 7T

a.b always form adjacent sides of a square.

. a.bex DVET DTV OS], B FRPVHT AN

a.b always form adjacent sides of a rectangle.

a.ben PG BIBBEFTS ) ForoHTTaw
4. % ke v

Question Number : 30 Question Id : 4387197070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

OABCD is a pentagon in which the sides 04 and CB are parallel and the sides OD

— 0OA an 1
and AB are parallel. Also. it 1s given that —=2. —=

4B 3

If Od=qa.OD=d. then AD+0OC+DC =

OABCD 3 28 Dotdzozmed” 04, CB Zzren DIATodTrey Sdoiw 0D, AB

T NAToBTTL). QoS %zl %z% 29 fa:rse.acimé’). OA=a.0D=d
o, 4D+0C+DC =
Options :

d—a

1. ®



Question Number : 31 Question Id : 4387197071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the points P=i+ 2}. § =47+ 6}. R=5i+ Tj.r S=ai+ EJ} are the consecutive
vertices of a parallelogram PQRS. then

P=i+2j.0=4+6j. R=5i+7]. S=ai+b] Do & DIToBS BSBOWR0
PQRS cng), SWR 3groond,

Options :

| x 8=2,b=4

5 % a=3 b=4

a=2.b

e
<
Il
LFS]



Question Number : 32 Question Id : 4387197072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If EZ4F+6}. 5:3}71@1:1?10’ c is the projection vector of a on E‘ then ¢ and H
respectively are
a=4i+6j.b=3j+4k ©ond, b » a DE), worr DED VOF c ©ond, ¢

208050 ‘f‘ 1 ST

Options :
[ @ 18
_}_b.?
L 23 4
8513
2. % 3
~g _
2 15
,x 185
5 _ 5
—b,—
, % 18 18

Question Number : 33 Question Id : 4387197073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The distance between a point P whose position vector is

5i + ; +3k and the line 7= (3i + T"} -I—}j + I(}—PE) is

r=(i+Tj+E)+1(j+k) B 208an FD 0BT Si+j+3k T AL Do) P o
206 Grdo

Options :
1. % 3

Question Number : 34 Question Id : 4387197074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mean deviation from the median for the following data 1s

X 10 11 12 13

t 6 12 18 12

Sod dg“o?“ﬁ% mﬁ;fa_gﬁejc Aot mc::?gm DdDe

X 10 L1 12 13

f 6 12 18 12




Options :

1-\/" 0.."3

-1
;..I"'I

0.40

Question Number : 35 Question Id : 4387197075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Three unbiased coins are tossed. Then. the probability of getting at most two heads is:
Pobbilnd) :Jﬂ‘bﬁg THOD HDLOEDDO. &ﬁf@:}d& rﬁ:‘.’ifﬁcn‘ Sotl E.TQJEJJ ;br.‘.fx:}bx}é.‘r&‘o
‘boﬂ,?béej

Options :

3/4

1. %

1/4

2. %

Question Number : 36 Question Id : 4387197076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A box has 6 black. 4 red. 2 white and 3 blue shirts. When 2 shurts are picked
randomly. the probability that either both are white or both are blue 1s

28 DOS” 6 LD, 408, 2 BV H0BA5W 3 VY Go T LV SV, VoS Wl

Bot> BT 0 CIrED \So &2 ©d Bodr BuID To Tokr D Gordd

SIS Rogrds

Options :
/105
L& 4/103

, x 1735
, % 1/105

. x 115

Question Number : 37 Question Id : 4387197077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two dice are thrown simultaneously. The probability of getting a multiple of 2 on
one dice and multiple of 3 on the other dice 1s

ot FDVSVR 2EID BEPoDB. BN 2E FDED 2 BwE), Medwo SBOSW ok

eI 3 A0S, (DEdR0 TS DTS



11

7 « 36

13

3. % 36

5
4. % 36

Question Number : 38 Question Id : 4387197078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two persons A and B take part in a shooting competition. A can hit the target with a
probability of 0.6, B can hit the target with a probability of 0.8. A has the first shoot,

past which they strike alternatively. Then. the probability that A wins the
competition 1s

RGO (e A B e 28 rdeh THS FToerdd. A o) B
RogTdie 0.6 Hdasw B ugsi};l DEOTIILISD QoS 0.8, 2o A 58
WO €53 2,50 SETS 20FEC DSTodGol™ OIS B0, A Deolo I HotddLIE)

RS
u

Options :

—

Fi



11
4. % 17

Question Number : 39 Question Id : 4387197079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a Binomual distribution. if p=q and n= 4. then 2" P(X=5) =

28 BOG Deradod’, p=q B0 N = 4 wownd 2" P(X=5) =

Options :

Question Number : 40 Question Id : 4387197080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A random variable X follows the binomial distribution and X ~ B (n. 0.3). If the
mean of X 1s three times as large as the standard deviation of X. thenn =

28 Qircﬁ;,ﬁas wDooed X cﬁsfbcﬁ SJEIJ“E&RJ“:};L e8RS D0bady X ~ B (n. 0.3).
X g, wos Ho@(e o ST VS 3 BY3, n =

Options :
1. 9

3
2.\%"‘1

Question Number : 41 Question Id : 4387197081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a line AB of length r moves so that A and B always lie respectively on x-axis and
v = 6x. then the locus of mudpoint of AB 1s

r ooy T $HHD AB B, A 00030 B Dotraden 6T X-efo Sodotw
Y= 6% 32 G Gkt BBAT &otd, AB I B0, 2065 Dot Dok Lo
Options :

| ® PRan s 55

2

2 5 _ 1
z.%(}lC /!3) i 5



-2

r 2
3. (x=7/3) +y*=7

4 % Y= 6%

Question Number : 42 Question Id : 4387197082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

All points inside the triangle with vertices at (1. 3). (5. 0) and (-1. 2) must necessarily
satisfy

(1. 3). (5. 0) 2B (-1, 2) ITOS VG\E S0 ©) Bodd DoddDew
B)2 DO DD £ okvdve
Options :

| % Ix+2y=0

) 3Ix+2y>0

2x-3y-12>0

2x+y-13>0

Question Number : 43 Question Id : 4387197083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The line on which the lines ax + by =1 and bx + ay = 1 (with a # 0 # b) intersect for
any real values of a and b is

a3 S0BoIW b IS, WBT TRD DV, ax+by=1 Jodaiw bx+ay=1 (a=0=b)

B0 Dok Do £dAD B
Options :

L& 2T

3 % 2x =¥y

4.0 XY

Question Number : 44 Question Id : 4387197084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For x and v satisfying
x| + |v| = |x — 3] + |[v — 2], which of the following is correct?

X wdodn v e

lx] + [v] = 1x = 3] + [y — 2| D 8,208%. 308 TO° 26 RB[D07
Options :

x——fr:er x<3andl=y<?2

0<x<3308000 1<y<28 x=1
1. % 2



5
x+y=Efm'x-“-:3m1dy?: 2

i

x23 060k ¥22 8 x+y=-

ko |

2. 8

1
x:Efﬂ'r:x:Ii_}ZandUi-iy{G

x=22 S0 0<y<38 x=

|u||—~

3. %

5
x+}’=§fo?'ﬂiix¢:3,0£}*{f2

2| Ln

0<x<3.0<y<2 8 x+y=
4. ¢

Question Number : 45 Question Id : 4387197085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a, b. h =0, if the slope of one of the lines represented by a’x” + 2hxy + b’y* =0

1s twice that of the other. then the value of ib 15
a

a.b.h>0 eon ax’ +2hxy+ by =0 Arded = 28 B Trew, Sokd &

TV Do) w3, ib DD
a

Options :



L]
&

Lv 4
-]

2. ® 4
.03

3. % 4

Question Number : 46 Question Id : 4387197086 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Suppose A and B are the points at which the line x + y — 4= 0 meets the pair of

straight lines x> + v — 2x —4y+2=0. If Z40B =90 . then a value of A1s
Xy —2x—4dy+2=0 e RDOFOITEIMLY x+y—A=0 &D 5 A J0bosw B
DoBIDL 06| DodRT 2oBakw LAOB=90 ©and 1 cwe), ws Dewsd

Options :

L2



Question Number : 47 Question Id : 4387197087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a circle of radius 3 passes through the point (7. 3) and has its centre on the line
X —y— 1 =0. then its equation among the following 1s

3 Tderr (i 28 HyBo (7. 3) @D Doty Mot FA», & Sodo DEWOD
X—y—1=02 &otl, $0& TES° T LALGESD
Options :

| % X+y+14x— 12y +76=0

2. % X +ty +14x— 12y +76=20

;% Xty +8x—6y+16=0

y v XY —l4x—12y+76=0

Question Number : 48 Question Id : 4387197088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



- : - 2. .2 SO 2. .2 z
Number of circles intersecting x™ +y =4.x +v —2x—-3=0and x" +y —2y—3 =0
orthogonallv 1s

XAy =4 X +y —2x—3=020000 X +y —2y-3=0 03 ST 0N otior
PotoB DT VoS
=% u

Options :
.v 0

-3

Question Number : 49 Question Id : 4387197089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the segments of the straight lines x + v = 6 and x + 2y = 4 are two diameters of a
circle passing through (6. 2), then the equation of that circle is

X+y=600050 x+2y=4 e Sotd S0 CInE), ommew (6. 2) Mot J'od g
)20 WE), T[IreD WONS & Jydo TBWE), 2QEGE0
Options :

- X4y —2x—4y—-20=0

- X +y +6x—4y—68=0
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The circle x> + % — 4x — 8y + 16 = 0 rolls up along the tangent drawn to it at

(2 +3/3 1) by 2 units. The equation of the circle in the new position is

XY - Ax-8y+16=0 036 a8 e, @8 (2+4/3.3) Do 5 HRD
Ry6) O 2 2 ol g o Sfotiacod. WG RT3 TS 3D
&S0

Options :

. X’ 4y —6x—2(4++3) y+ (24+843)=0
| v _

L XY —6x+ 2(4+43) y+ (24+8V3)=0

-

<+ ¥+ 6x—2(4+43) y+ (24+843)

X +y +6x+ 2(4+43) y+ (24+8J§)=a
4. %
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Time : N.A Think Time : N.A Minimum Instruction Time : 0
Suppose the angle between the tangents drawn from (0. 0) to the circle

; ~nD oo s - .
(x+ Ay +({y+1y=4k"is = Then 2 satisfies

(0. 0) Do) el (x+1) +(y+ 1) =1" 3z Add 236,80 20655 s

g <

—. D L W $ddd dend
Fra

Options :

Rddah

2. % =4

3ox A =4

4. % },2 =9
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If the focus of a parabola 1s (0. -3) and its directrix is v = 3. then its equation 1s
DorHwole ~rd) (0. -3) LSoboin PR QoS0 vV = 3 eond &8 DHUTSHLAD
REGEI

Options :

Lx X =12y



, % Y ==-12x%
3 % yr=12%
4 K2=-12}’
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For a belonging to an interval of length B. suppose (0. - @) 1s an interior point of the
ellipse 4x” + 5y* = 1. Then (6p —4)™' + 201 =

o0 030 f TED (v wE ©odbo S'VB (a. - o) ©D Doy &Y Jydo

4%7 + 577 =1 £ S0 2rTd SotddEod. I (6 —4)™ +201+=
Options :

21
1. % e

4 201
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: ¥
From any point on the hyperbola — ——=1. tangents are drawn to the hyperbola
a

2 2

2 2
oy :
—~—-==2. The area of the figure formed by the chord of contact of that point and

a b
the asymptotes is

p | 2 2 2
X oy Xy
———=] edDTHVMWe D o BT Doy Aol —S—5=

a
OBDT HVOIT IS SACA Spen Hob QEFON. DN &8 DoY) IS, RN Gy 27

I

08030 s B\6y BOSE DONE Do CIVE), PFTVo

Options :
ab

1. ® -

ab

2. %
3 % 2ab

4 dab
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Statement 1 : The eccentricity of the hyperbola 9x° — 16y -72x + 96y - 144 = 0

is%

I, 2
Statement 2: The eccentricity of the hyperbola —T? ——;j =]z, 1+
2 a2

o

O3B0 11 9x° — 16y” -72x + 96y - 144 =0 03 ©dDTd00%00 W), &S)odd
%

4
1': ‘1'1 .

i b
POBJ0 2 1 — —=1 8] VADTDVOe IS, &B) RSB ,(1+—

2 2

a b a

Options :
Statement 1 is true, Statement 2 i1s true; Statement 2 1s correct explanation for
Statement 1.
L DOH00 1 VSN, DHLADN 2 AS[D0; DD | S DIBD02 RBADD VD6
Both statements are true and statement 2 is not the correct explanation of statement 1.
0oC DIWT-LL DS 08051 W0 1 § DIWRo 2 POFVD DD6E STE.

Statement 1 1s false: Statement 2 is true.
20tdA0 | e::“n:ejé;ﬁx, 2o 2 RS

Statement 1 1s true: Statement 2 1s false.

4 % a0 | RSO0, a2eITAA0 2 e:?'“rcej?Sm:r
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If the coordinates of the vertices of a triangle ABC are A(7. 6. 4). B(5, 4. 6).
C(3. 2. 0) and the bisector of /Z BAC meets the side BC at D, then the coordinates

of D are
Szoao ABC cws) %‘gﬁu Qdrosten A(7. 6. 4). B(5. 4. 6), C(3. 2. 0) &udodw
/. BAC C0E), RGOER 0 a0 BC AD ;:ng} oG, D aBE), QOO

Options :
(1

Lad
Ft
=
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If the direction cosines of a line satisfy the relations
[—m+n=0 and Im+mn—4nl =0, then the direction cosines of the line are

2.8 DOFo caws), &S ERD w0 I—-m+n=0.Im+mn—4nl =0 & Doeromrem) Sy
DMR0E, €5 DOV IV S E200 en
Options :

2 14

MME@:

‘ 1 -2 I}

5 <6 <6,

f;.
f:m-m
Al

3. %

1

R
(S

=,
f:mm
[

4. v
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Let 7 be the plane passing through the point (3. -3. 1) and perpendicular to the line
joining the points (3. 4. -1) and (2, -1, 5). If the equation of the plane containing the
points (3. 4, -1). (-1, 2. 5) and perpendicular to the plane T isax +y+ecz-d=0
then 3(a+c)=

(3.-3.1) Dot Mot J'ede, (3.4.-1) H08adin (2. -1.5) Dot Mot Jcd
B wordol™ Goll SUrdy 7 Do e. (3.4, -1), (-1. 2, 5) Docwopoy <dA
Gotar, SWo T SO WorolT ol Swo IS, HEGE0 ax+y+tez—d=0 ecnd

Jat+c)=
Options :
| % -d

. 2d
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[5;1'_11 :\'] — [cos x‘] +1 3

If [ . ] denotes greatest integer function, then lLim
i e =

[sinx]-[cosx]+1 y

[.] 088 rgres D200drdy AWy lim

- >
? S e =
Options :
1. 0
- |
.j
2. % 7
1
3. % -
sv 1

Question Number : 60 Question Id : 4387197100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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HX
. cosx—e
If A20and x>0, then lim —— =
=% |- 4e™
cosx—e"

AZz0 206c80w x>0 wond, m ——— =
n—r ]—4e™

Options :



does not exist

bgéi}eﬁo i=alen )
. ¥ @

40 4
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' B

Let f(x)= 1=li—1}nx .1‘(.1'}'{ —1), and 2022 ERPFia) = f{xz}. then P =

Lix

f(.‘n'}:.}iﬂgl ‘1-(:{}?—1) Sobasn 2022 \ l]\—Pf () = f(x"), ®o0s P=

Options :

| % 202

. 2021

(O8]
®
]
o
I3
L]



» 2024
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- /1— % dv
= Hm; 2tan” l ‘ ‘ x=cos28, then — =
1+ x (‘.-’T
o 1-x 1) dv
..'-’ranl‘ l‘ r=cos20 oD, — =
,_ o s dx

X

V=sin

Options :

1
L x V=X

) —cot 26

tan 26
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I f) =[x ~3v+2] then - =
dx

eI ﬁ =
dx

Flxi= ‘xz S - o o

Options :
2x—3. whenl<x<2

1< x <2 woGiey 2x—3
3—2x. when x> 2

x> 209000060 3—2x

2x—3. when x> 2

X > 2 9000 NED 2x—3
3.¢

3+2x.whenl<x <2

l<x <2000 3+2x
4, %
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-y

log x y
If v=—"—r - then — at x=1
X elx”
log x d*y
V=—— 00, x=1 38 — =
X il
Options :
| % —€
2.4 73
3. % 3
3
4.% €

Question Number : 65 Question Id : 4387197105 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The angle made by the tangent at =7 ; on the curve x = a(0+sinf). y=a(1-cosf)

with X - axis is
x = a(B+sind). y=a(1-cosd) 558 6= ’/ 56 20468 x — 5o B Ero

Options :



3.¢ 2
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F X4 . 34 ,
If the angle between the curves y" =4x and y=¢ /% is 0. then cosec” | 5%} =
| e

7 = o 2
Yy = 4x 0B y=e P 357w 206 Stede O 0w, cosec {6}/:} ;

Options :
|
1.v <

2335

3

3. %

ﬁ

4,
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f0<x< % , then

Dex< % £200063,

Options :

2. %
L% T 1

2 smx

e Ol

SIMX

- =1
3% 4

- SN A
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Question Number : 68 Question Id : 4387197108 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

¥ 3

: : Xy : :
The least intercept made by a tangent to the ellipse P + E =1 with coordinate axes
is

g* l_J: 188 S0 B0E), 016,88 IWDTTOS 3D S0 VoSGV
o A€ o = A >

Options :
L% 40
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If fix)= \/E sin ¥ —cos ¥ — 2axv +b decreases for all values of 1. then

X Q308 E:JD;L Lenswsy f(x)= \/Esj.tl r—cosx—2ax+h Do
eS8 IPEaN) oS,

Options :

, v a=1
e
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r3e”—Te ™ (i a 7| s
|—rf:{' =Kx+.L 10g| e " +—[+C. then K+L=
" TJe"+3e 3
oy o i T
rag — jé s D / |_|_ _ s
Jﬁﬁl—ﬂﬂ |I.10g‘€ —Tl .CE*DJJ@,K-I—E—
fe +a3e- i)

Options :

=3
| % 38
21
% 38
38
5 o 21
—38
sx 3
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[V +312v=36 +/x—/12x=36 | dx =

Options :
e L=
% 2\/5.1 s Ve



- +C, Vx

2. % =

4 5

jT(x=3) +C. f x>6

| 23x+C i 3<x<6
3.9

.l'—l- }rg

:5{1—3} e, i 3EX<8

| 23x+C  if =x>6
4. % °
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(1+x° % ) 7
= S ro= s
\ 245" ) &

|~ xdx
J ld[l i x}lz {: 4 53 .]13

Options :

1.336

2.234
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4
[(logx)’ Pdx =22 f () +C = f(x)=

Options :
8(log x)’ —4log x+1
1. ¢

5 % 8 logx—4x* +1°

5 % S(logx)” +4x—x°

. 4(logx)* —4x* +x+1
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. log x

J (x12 4 x12) R gyi=
L X
Options :

1.@”0
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5 2
¥ x4+ 1
tan H(——— )+ tan | —— | dx =
J_l (1’2 + 1) ( X )

Options :
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~2T
J sin"(sinx) dx =
—mf2

Options :
2
| 157°/8



—m?/8

2. %

3 @ —7m%/8
2

L% 7m*/8
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| — : ;
f: f;;j dy=2vx— 6 = f(x)=

Options :

4 % x-!-y"";
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¥ cosvx

s 4 e v(0) = 1 15— log.(f(x)),then f(x) =

If the solution of ;i

& _ Y OE 1 (0) = 1 ciwg), Fan o = log.(f(x)) wand, f(x) =

dx \.x lu"r =
Options :
L% 4+4 smn v x

) % €sin Vx
5 % 1-4sin Vx

4 e-4 sinvx
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Suppose that f(x.v) and g(x.y) are homogeneous functiona of same order. If x=Vy

. g . dy  J{xy) av. 1 .
reduces the equation T G to the form i (F V)) then F(V) =

f(x.y) 200030 g(X.y) €0 8 BGANS BodD Tokd DAHTH HIAITFLD. X=Vy 38

= L& Psord) L=~ (F(V)) ardoss’s ©63 ey F(V) =

dx aixy) Jf‘ ¥
Options :
1L,V)
(f( " V)
g(1, V)



fv,1)

, % (g(v, 1) V)
LGam)
v,
o)

Question Number : 80 Question Id : 4387197120 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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The general solution of xdy-ydx = ydy is

xdy-ydx = ydy cing), I 6

Options :
r= AV
L
, % Y=A e”
y
—=A4Ae*
3. 8 X
x ¥
—3 =



Physics

Section Id : 438719144
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 81 Question Id : 4387197121 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two principal thrusts in physics are
TS TR0 :’;cﬁée_‘ﬁﬁsr‘bo DODHVDD DOED 9oFED

Options :
Diversification and complexification

D) S0 BBt oS
1. % < =

Unitfication and simplification

- DELEe S0BoIL PDEVESH

Unification and reduction

DSE6E 2BOKY TIEOE
3.9

Diversification and simplification

. DR BB 0B 2HOVE6
4. -
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

A ball 1s dropped from a tower of height 80 m. The time 1t takes to cover the last
50% of 1ts fall 1s
(acceleration due to gravity = 10 ms™)

D0 80 m (o B8 DAVEE W8 LB FOET . &3 ol HAITREIG0eS” Do
50% DoSrEotiiessd HEW TTwo

(Aododdg Gese = 10 ms )
Options :

f—

| % 2V 2s

. 1.175
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A vector P directed along the x-axis is added to vector Q which has a magnitude of
10 m. The resultant vector 1s directed along the y-axis. with a magnitude that 1s

2 times that of P. The magnitude of P is
X &%5°D w8 8% P A 10 m HOATRAL do 0FE 28% Q D $ddhT. HOS

DO y- HIS" Gotir BBITRSW, P g, HDBATTIS 2 0t SO &) b. wond

L

P olusb elelubuiubyl

Options :

_— V10 m
) % D V2 m
; % Om

4 2 w,,-“g m
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In the projectile motion of an object, the object reaches its maximum height where its
speed 1s half of mitial speed. Then the ratio between range and maxunum height of
projectile is

W8 DAY g, DBEDE LAWY, & DD OS¢, SOSES° Ddo £9000R3 G
(083 DB BOIR. VO & DY ;:“5;_} 2080w [A0H JSvw IS

Options :
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A block 1s lying at rest inside a bus. The maximum acceleration of the bus such that
the block remain stationary

(the static friction coefficient = 0.2. acceleration due to gravity = 10 m s7)
208 QRS 28 HJY Do DS & God. & BA) I VOIT GoGITIT™) LRy

ctmsb rs&?f.é @Sdmaﬂ,
(2070, G20 Swre 0E) DBS 20ger eSe = 0.2, DS S(Cee = 10 m 57)
o Uom ol

Options :

| % lms™

-]
5 % G5 ms™"

3 % 2ems”



2ms”
4 - 1m s
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Three forces of magnitude F,. F> and F; act on a body located at the origin as shown
in the figure. The condition that gives zero net force 1s

Sore Dot aﬁcg aa;l W8 DAY 20 Fi. Fr S0bcdw F; DiOreren do Dordd
Qere) DOANST BrOIL DOTHDERD. & S P DISwve e

SO0/ Fi. Fy 20808 F; 0B &1 DI GoaT).

¥

|

Options :

E=-(2+V3)E: E
1LY



F=—(2-V3)F: E

4
i B F
2. % | \‘{E_\/E 1

,=—(2+\3): E :ﬁﬁ

E=—(2+V2)E: E

]
L% | 62

2
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A system consists of two springs conmected is series and each having the spring

& i . ; .
constant 10 Nm . The minimum work required to stretch this system by 1 cm in erg
18

Al
X & Y

5% (#86° Dot (Gofiod YDA Hob. 2895 [Bof, [Boh borosse 10 Nm™. & S555

1 cm Frhbomed Sahdess 04 99 &ga:@g“

[<}

Options :
| = 1500

2000
5 % 3000

4 v 2500
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A cannon ball is fired from the top of a 55 m high cliff with an initial speed of
50 ms'. The speed of the cannon ball while hitting the ground in m s™

. Z )
(acceleration due to gravity = 10 ms™)

2% DOoh ibothil 55 m a&ils 8o D Hed S0 m s &0 Srisn & DTG, & Hoh ot
Srnf TS 365 me oef
(o83 Syeso= 10 ms™)

Options :

2.v 60

[

e 4]
L)
12
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A cricket ball hits the ground with a speed of 5 m s making an angle 30° with the
horizontal.  If the coefficient of restitution is 0.2. the speed of the reflected ball
in ms'is

o5 (8865 w03 Sm s & & 88:08 30° Schedeu w0 w0808, BENETS heshn

0.2 sond, = w0 §6A 28 JAd 38 ms od

S ms!

30°
S A
Options :

—

% V22
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A circular portion of radius R> has been removed from one edge of a circular disc of
radius R;. The correct expression for the centre of mass for the remaining portion of

the disc 1s
mgrden Ry dlo HTFE 84 o8 88 Kol R arpprgain e S@v0 grmely Sofodart.

(]
ous A grite (B5oed Bo[darssn

-
~ e

Options :

R,

, RitR,

1. ¢ =
R

% R]. - R.q.

2. =

R]

3 % R, +R,
e B

. RitR,

4. i
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Position of a 2 kg mass moving along the x-axis 1s given by
- T i 1 ] s _— SY. -
x =2 cos [(2 s ) t] m. Then maximum kinetic energy of the mass in joule is

z 1 =
X- w5so Soad 568 2 kg (@5oee pddn x =2c0s [(2s7) 1] m. wond o0 60% Sy
FSos

Options :
1. % 4
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; i _ ; : . h oo :
An object mass 2 kg is attached to a spring with spring constant 8 Nm . If the object
1s executing simple harmonic motion then the number of cycles it completes in 66 s

1s
o] X o
{Bnoh Loroso 8.0 Nm™ Ko Byof ® 2 kg (85508 Mo S8 SAdomrt. o S J5¢

£

af‘rc'mééé Sessks ﬁ}’ﬂﬂé wb 66 s o Tn Sodre Rogg
Options :

2
L 21

2. % 16
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The escape velocity of an object from a planet is 16 kms™. If the escape velocity of
the object from another planet having twice the density and three times the radius of

the planet 1s V-y’? ms ., then the value of V is

&8 (Hfre S0l a8 Sk GnY) Sodkd R 16 kms ™. & 1555808 Coh Oin rolid Subdin

Eﬁ.

o _; T = _1 T o
3 Bip a’g?dc’ fe 5678 (i{dro ook © S DockeN mito V2 ms soxs, V Des
Options :

L 12

2. v 48
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In the case of a wire. having negligible mass suspended from ceiling and stretched
under the action of a weight F suspended from its other end. the tension at any cross-

section of the wire 1s
D 83y Aol DLFERIRD D) B0td BARD I3 (v A Ooll E35) $8% aCo F
S50 86 F0 VoS0 B AIE), IBT” WEW\Go I Polt SIS

Options :

| Zero

, % OSF

4.0 F
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A hydraulic lift 1s shown in the figure. The radu of the movable pistons P; and P> are
of 2 m & 8 m respectively. If a body of mass 2 kg is placed on piston P; then the
force on piston P5 1s

. . . )
(Ignore atmospheric pressure. acceleration due to gravity = 10 ms™)

w8 reds EJ% 83085 B Dol Swc. €8¢ Sunwsten P; H08cin P, w
U“éﬁ“g“?.}& DGR 2 m 08030 8§ m. SwHwse Py 0 2 kg g;.‘:ét::“%‘ (L DRPHA

GoWRAINE RS Pr 2 D B wee.

(Tora0n HET) D) Botsod, 20BCRD MESY St =10 ms™)

Options :
| v 320N
80N

2. ®

; % 1280N
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Consider a circular ring of radius 1.4 cm lying on the surface of a liquid. If a vertical
force of 0.022 N greater than the weight of the ring is required to lift this ring from
the liquud surface, then the surface tension of the liquid 1s

1.4 em 5°jCo (0 28 HT"S"0 SoStao 28 FHGVo D &) VAT AW, BIdwo
Aol SoSrTl) LICNLIL) SCLVLL Sosed AR Sot JE).D o 28 0.022 N £82

208) W0 VIVCIB, oo WMNS), SIS

Options :
| % 0.085Nm™

5 » 0.125 Nm™

, x 0.250 Nm™

, u 0:465Nm”
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A small electric heater 1s used to heat 200 g of water. The time required to bring all
this water from 40 °C to 100 °C 1s 200 s. If specific heat of the water is

4200 J kg K then the power supplied by the heater is

28 D) DS rL 200 g ABD D& BOWLD SDOTTADTER. & 8
agﬁg@ 40 °C &ooc 100 °C £ BO0LH e SwH0 200 s D& mgﬂm

4200 Tkg' K ©9003 €5 27660 090800 F 206 20

=

Options :
% 155W

L % 310W

L% 88W

L 252 W
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: - ; 11 s
An ideal gas has specific heat capacity at constant pressure — R . If one mole of this

ideal gas at 125 °C does 83 J of work adiabatically. then the final temperature of the
gas would be

(Universal gas constant. R = 8.3 JK™ mol™)

11
2, & o 0
D6 Do HG w8 BBS) ToINY A, mgﬂg 5“&1’?}69 ER. agg@ 125 °C
DS 1 A7 BRG, TV iﬁﬁg D805 83 T H BHA &3 T o) dod agﬁg@

(Froggs Tras Horesaw, R=8.3 TK mol”)

Options :

| @ 25°C

, % 50°C

W

®
h
=]
('

4 % 100°C
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As 1deal monatomic gas of 1.5 moles 1s heated at a constant pressure 2 atm so that its
temperature increases from 30 °C to 130 °C. Work done by the gas is

- =Yiecd
(Universal gas constant=8.3 Jmol™ K'')

1.5 2008 © 2,8 860, D€ DOATEVS TT0IVP S Do 30 o &J 68 30 °C

Aood 130 °C £ 287 Dol DA B G). TCi0D) B D

(o8 Trasw Horeso =8.3 Tmol K )

Options :
| % 25007

1450 J
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The temperature at which the r.m.s velocity of a gas triples to its r.mus. velocity at 0
°C is

28 TOI0Y S 0 °C DG rms Dffo STy VT & rm.s o TITTIT)
50D &%ﬁj@

Options :



| % 2184K

) 2184 °C

3 % 2100 °C

4, % 2100K
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Two wires A and B of lengths in the ratio 1:2 and masses in the ratio 2:1 are
stretched by same tension. The ratio of the fundamental frequencies of wires
A and B 1s

TEDW B 1:2 208050 SITI00 S 2:1 () Totd Arien 28 3D Gol
Do FHEFTC. A Hd8oinw B 6w rE0g ﬁa:r:@méu DS

Options :

% 22
1:42

2. %

4, ® \{{E:l
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A convergent lens 1s placed 40 cm to the right of a diverging lens of focal length
15 cm. A parallel beam of light enters the divergent lens from the left. and the beam
15 again parallel when it emerges from the convergent lens. The focal length of the
convergent lens is

15 em FRDAfe (L 28 DB Ss™IS DAY 40 cm GFCeS” 28 ©DID
S®S0 GodeiCiod. eDID SLS0 D AED DR Aol DA w8 VATBE 0B
oo VDI S0L0 WD VAToBE Yoo M IODLS HT . VIO s0s

maﬁsodcﬁo.

Options :
| % 40 em

) ® 25 cm

3 55 cm

4 % 27.5cm
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In a Young’'s double shit experiment. the slits are separated by 0.28 mm and the
screen 15 placed 1.4 m away from the slits. The distance between the central bright
fringe and the 4™ order bright fringe is measured to be 1.2 ecm. The wavelength of
light used 1n this experiment 1s

28 000f 2ot DIE HAIFHs”, WISV 2e| BrGs 0.28 mm  BAHL BER
1.4m D080 od Grdess” Gotrdd. Sodad aVtcoteny ::-eé Sodasw 4 S 8O
GojdMoD PO G| Brde 1.2 em T Fodeded. DAIFHS” aHATADD

S odd ejdoﬁqﬁ_g%o.

Options :

| % 2400 nm

) 600 nm
3 % 1200 nm

4 % 300 nm
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Q

Two concentric spherical surfaces P and P; enclose charges = and 4Q as shown in
2

the figure. If ¢, and @, are the electric fluxes linked with the surfaces P; and P»
respectively then

Totd D& Zod AVTS0 deren ST Q ss80sn 41Q sd7o Do oD

4

-

DB B858D0 B &T)ow. Py OaSw Py SereosHr SGdE &) DS

ead)raTben ST ¢ HoBod O

Options :

1.« q}E =9 q}l
2. % h=3
3. B q}l: 2 q}l

4 % h:1=2 -
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A parallel plate capacitor of capacitance 500 pF 1s charged with 100 V supply. It is
then disconnected from the supply and connected to another uncharged
500 pF capacitor. The electrostatic energy lost in this process is

500 pF S000y sdAD 28 RATedd Dusw SFrHL6 W 100 V & e53060
(00 Qo) B DD SHIT G & IS W 500 pF 3FVeDy €I 8¢

T DD Srawd L sudced. & HSob &° é“e&ﬁgma iﬂgfﬁ aﬁm?gé 33

Options :
25
L 0.125 pJ

5w 0.175
3 % 0.225 ]

4 % 0275 WJ
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The effective capacitance between points X and Y in the figure shown below is.
(Assume all the capacitors are 4 uF each.)

S0 Hroes” X H0dain Y Dedopo 06 0 Eﬁ“%ﬁﬁs,

(28 306 g, BTGy Dewd 4 uF S8 sw)

Options :

L% 3 uF

o % 1 WF
3.0 4 HE

4 % 2 pF
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A battery of emf 12 V and internal resistance 4  is connected to a resistor. The
resistance of the resistor if the current in the circuit 1s 0.8 A is

12 V emf 208030 4 Q 9088 DB So Moy e e.rﬂgbér.m 208 Sméei DESA0HE

€08, & Sdwode Aot 0.8 A DENS DITIPAD GoEDHTID) DB DE S0

eSS

Options :
Y. 11 €2
) % 9 €2

3 % 15 Q

L w130

Question Number : 108 Question Id : 4387197148 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A heating element 1s designed to dissipate 2400 W when connected to 240 V. The
power it dissipates when it is connected to 120 V is

(Assume that resistance of the filament is constant)
240 V & gDy 2400 W 5":‘&3%& D‘“G‘QJSJT&EJ%;}J 08 DVIot) A DI
BOTE. 98 DVD0T B0 120V § SdHILoNS T JB06 L.

)
(Ddodvety DB Ge 336&5&] 208 0d)

Options :



| v 600W

5 % 1200 W

1800 W

3. %

4 % 400 W
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The magnitude of magnetic field at O due to a current carrving loop as shown in the
figure is. where O is the centre of two circular portions with radii 1 cm and 2 cm
respectively.

1.2
(Take the value of current I= —A.)
s

Deioes” B DAS DT (AL LD HUD Doty O & DG\E AT 0B
Edo dod. wrd & (v Jod Trhanen O oo M SOV 1em H0dasw 2 cm
T{FGI0 & ey D.
&
5

(0D Ao 3@595 Qorire ] = L4 A)
i

I

300
I'.:O
Options :
| % 10T
) 0.1 nT

3 % 100 T
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A long wire lies along x-axis and carries a current of 40 A in positive x - direction.

A second long wire 1s perpendicular to the xy plane. passes through pomnt (3.0 m) j
and carries a current along positive z- direction. If the magnitude of resultant

magnetic field at the point (2.0 m) ] is 5x10-° T. then the current in the second
wire is

(Permeability of free space, pu_= 4 ~ 10”7 SI unit)

X- 0850 P &) w8 TEPD 86 +x 63S° 40 A DS pIPsw <DA &) 8.
2088 Bodd &6 X v SLIVIL wotdom (3.0 m) J Do) ot +z HFS” 3)@3595

Drs0 $DA God. (2.0 m) j 56 DS woLIYed AN 5:10-° T eowd
Botisd B PIPRD) DES DI TAD
(305 a3rds ::Eaéojai}%e?), 1= 4m 1077 SI parean)

Options :
30 A

1. % °

, v 15A
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If a bar magnet 1s cut along the dotted line as shown in the figure and the two pieces
are held separated by a small distance as thev are, then

DB &° WD WS cﬁcdojo&bowbi W) 0 Aed Dol o) 2008 Lot AP
&5 ) VR BB DdorT Soch GirGoes’ DA B

I
|
|
|
I
1
I
|
|

Options :
They repel each other.

£94) 2,88 Ssgam g 20/
1. %

They attract each other.

09 2,.50°ASEE 3580ty SR
2.
They do not experience any force on each other.

e9a) T8 Sl Qerod) Lerd) DE8 oY.
3. % b



Will repel or attract depending on the location of cut.

DEFTE WD Froord) w8 & 208 a0 DEhoty §'dthdy T es8hothd §Dtdy
4, %
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A pair of adjacent coils having a mutual inductance. M. The curent in one coil
changes from O to 16 A in 0.3 s and the change of flux linkage with the other coil is
40 Wb. The value of M is

D), DD &) Bod S OO A6 ©S1D] DO M. 28 S o S Dawid
03 s Soo® 0 Aol 16 A £ JFBINE Tokd BB W) & AADAD

eDTH0S” By 40 Wh 9008 M Densd

Options :
| % 04H

, x 0.12H
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An mductor of reactance 1Q and a resistor of resistance 30 are connected in series
to the terminals of 10 V (rms) ac source. The power dissipated mn the circuit is

10 V 57086 Sz 205708 28 10 3o du dosaw, 3Q e 35"
£doTrd. Swodoees” ci:dsléaj)mmaé &m%o

Options :

L% 333W

. 30W

w 316W

4 % 20W
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Light falls on a non-reflecting surface normally. If the average force exerted on a

. 2 . ' . . . —
surface with area 15 em™ during 20 minute time interval 1s 10 5 N. then energy flux
of light 1s

(Velocity of light = 3x10°% ms™)

28 VDTS SVo P ol Vool DBIPHSeG. 20 JAWITY T°o HHAS"

SFfo 15 cm’” (50 &5 Beo 2 DA YO DTRD o 10™° N. ©2003 & 508 oS,

32 DT IS0,

(520 Do =3x10° ms™)



Options :

: S|
L 20 = 10" Wm

, % 15x10° Wm™
o 25 <10 Wm™

4w 1010° Wm™
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The correct ascending order of the wavelengths of the following electromagnetic
waves 1s

Ultraviolet. x-rays. infrared. gamma rays and visible light.

So6 B\RD DAIEHADI)08 S0V GINE), SCo ST (@ ROED esB e 0o
©ADS TS, x — S6ETe, DTG, T S6EFen SO0 GyFT"57od

Options :
x-ray. gamma ray. ultraviolet, infrared. visible light

, X— Sorren, s SemTe, 3VS TS, DT, $yFT 50N

Gamma ray. x-ray. ultraviolet. visible light. infrared

. mrar 36en, X — 366D, BaDVS TS, §yT T oS, DT STod
2. ¢



Gamma ray, x-ray. infrared. visible light. ultraviolet

Ty $6eTen, X — S6e7en, DTN, GyF"5 08, AN I
3. %

Gamma ray. x-ray. ultraviolet. infrared. visible light

, T 46eTen, X — S0ETeD, ANV IS, DTG, TS od
4.
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: . E 13 ;
A metal has work function 2.5 eV. If a radiation of frequency 3.2 X 107 Hz 1s
incident on this metal surface. then the maximum kinetic energy of ejected photo
electrons 1s

(Plank’s constant. h=6.6 x 107 J-5)
28 S0 DY pRoae 25 eV. & Srawp 3.2 X 10° Hz Fa:appan do

DSCEs0 DSAVAND, EEFEAND STod IV (10K (82 3S.

(08 HT0S20, h=6.6 X 1073 J-s)

Options :

% 95eV

L x 256V

3 o 10.7 eV

4 x 1266V
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The following parameter 1s same for all hydrogen like atoms and ions in thewr ground
state.

Fr 00" TERD ATO0 ol ©I) DOATDOLD MO WAIrD VL
Sofd DHTaALG DAFDAD.

Options :
Radius of the orbit

Skl a“é&ga

Speed of the electron

aa}gﬁ e

Energy of the atom

HOSTeD 33

Orbital angular momentum of the electron

AUTD ST Eeian @) riw.
4. o = T ()
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A radioactive element A converts into another stable element B. Half life of A is
1.5 hrs. After time t the ratio of atoms of A and B i1s found tobe 1 : 8, thent in
hours 1s

2,8 SC.Ormg) s Surese A od b8 E{gd Soroge B Hrd08. A dwg)
8RS STUA 1.5 foten. STOH t ST(D A 00030 B © DEITmpY S

1:8 0008 t Dewd fHotiwres”

Options :
1. ® 6

Between 3to 4.5

3 RAoow) 4.5 350{55?5&‘56
3. %

Between 4 5to 6

45 2000 6 B06e’
4. °
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The class of materials having the largest band gap in the following 1s
od TJS” (18 & Wodbo (v DLTTV I6AD

Options :



Metals
e5°%en

Semi-metals

e90 e5°73fen
@

Semi-Conductors

esrg TATETAD

Insulators

ElofisTe)
4. ¢
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A carrier wave of peak voltage 60 V is used to transmit a message signal. Then the
peak voltage of the modulating signal in order to have a modulation index of 90% is

WS DVoBB VST DIYCo Bty 60 V 306 Sga e TErS SCoTT)
=rolobbilal-tnle bl :xfda?ﬂﬁ‘?‘qé At 90% &odotisy ;ﬁr@gﬁa’q& 2080 IS I ga,

Options :
| % 30V

) & 54V
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While passing through the applied magnetic field. which of the following undergoes

the maximum deflection?
DOITAG ©AHIY 08 Edo AT VBT BRI, S8 TOS* DD (BHorT

90200~ WotTron’
Options :
Stream of a- particles

| % O- Se3)oRo

Stream of p- particles

— 8832 )0
2'\.fl-:’i oo



¥ —rays

s x T — S0ETen

Stream of neutrons

ROLET7AD Se)oo
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An element has d° configuration. The total number of electron exchanges possible
for 1t 1s

2,8 Sorosds & LT[R0 ol ¥ IS buﬁoé DO HTE© Do Vo]

Options :

% 18

2.¢ 10
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The correct electronic configuration of the element Au is

SoroSo. Au dS), PBALD VT DT°(Ro

Options :



| [Xeldf145d1%6s2
. | Xeld 6s
- [ ] fi45d9 2
eldf s
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. % [Xeldf145d%6s?
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The correct order of atomic radi1 of the elements O. N. S and P 1s
O.N. S. P Jaroste D630°60 J(RrTr 280D S0

Options :
1.8 N<P<§5<0O

;% O<N<P<S

4. O=N=8<P
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The bond order of dioxygen is ‘m’. The bond order values of N,  and C,” are
respectively

G380 o6 Se 'Mm. Ny, Cr7 @ 2306 €200 DeNSen SET

Options :
Sm 3m
1.9 4
3m &m
2 % 2
1mom
3 % 2 3
Zm m
4. ¥ 3 P
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Identify the correct statements from the following
(I) SnCl; is 1onic. but SnCly is covalent in nature
(IT) All linear diatomic molecules have zero dipole moment

(IIT) Both NO and O- are paramagnetic
o8 Te95° DB T{AFLRD YA,

(I) SnCl ©airds 2Erard) $9A &od 50 SnCly DGR VLT $dA
eodd.
(I) ey Do ALDEAT TS EVPV B D S0 DD T

(IIT) NO. Oz & Bote> U0 o DET

Options :
(I) and (II) only

L% (D Sobosn (ID) S8

(I) and (III) only
- (I) Svdcia (1) S-dd

(IT) and (IIT) only
. (II) Sodosw (III) Sdw
3.
(I), (IT) and (III)
L % (I) (II) So8cs00 (1)
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£ 5 —1 b g c =
300 mL of a gas *x” of molar mass 32 gmol™ 1s effused in 25 seconds. What volume
of methane would effuse in the same time?

27°er0 Q,;:JTSD'“%’ 32 gmol”  fo 300 mL 208 JPo0D) ‘x” 25 28D & E’Jﬁaﬂdeao

Dodod. odsTwoes aﬁjdma BDod BD DDHBAT 0 dodd?
Options :
| % 624 mL

5w 224 mL

3 % 32mL

4 424 ml.
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A car airbag is inflated by N; produced during rapid decomposition of NaNi(s).
What will be the pressure of the inflated awbag if 130 g of NaN; is used. The
volume of airbag is 10 L (T = 300 K. R=0.082 L atm K™ mol™)

NaNj3(s) 888 Joirade Dotto HOD ‘thjﬁﬁ': N; & 28 576 Te030 Do) HFdSo
(inflated) e20008. 130 g & NaN; &0 &DOrAcldAdiN QPO Sraiy Potd

OGN0 Jodd? ToOIN Do) DD D8I 10 L (T = 300 K Hodosw R=0.082 L atm

K mol™)
Options :



1.« 7.38 atm
7 % 4.92 atm

3. % 3.0atm

4. % 984 atm
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Assertion (A): Molality of solution mcreases with temperature.
Reason (R): Molality expression does not involve any volume term.
DI 380 (A): &S DOAD S0B. Groe) ArerdO DAMLBR.

52688 (R): 25rerde) D 2rdoedd a“ﬁjéﬂ“ 85" 2VEIDNBATE Do SoddD.
Options :

Both A and R are correct. R is the correction explanation of A.
| % A 208050 Rew Botar 0BG, A dBwg), ©8gd Dddes R.

Both A and R are cormrect. R is not the correction explanation of A.
A 5080300 Rew Botir 0BG, 5° A ding), 9B Jdsm R 57

A 1s correct. R 1s not correct.
A 2BADHE 57 R 2BT0IB 57

A 1s not correct. R is correct.
4 A DBCLAS T 57 R 280HAS
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The density of methane is maximuumn under which conditions?
$08 D DBRBOLS” WES oG (1BR?

Options : |

L% 0 °C, 2 bar

, % 273°C,1bar

3 % 273°C, 2 bar

4 0°C, 3 bar
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The atomization enthalpy of CHy is 1660 kJmol ~'. The C-H bond enthalpy of each
successive step in CH;—CH;—CH,—CH are +15. +30 and +45 kJ mol - higher than
the mean bond enthalpy of CH bonds. respectively. The bond enthalpy of the last
C-H unit 1s

CH, G308), HDEI7eE08 aa:;:nbb 1660 kJ mol . CH4—CH;—CH,—CH ¢&° H&
90365 C-H 2iodd é}om%m DB +15, 430 208030 +45 kI mol ! Hoedd C-H

2206 Doty Sots D&, I Gotrow. VSO C-H 00 21065 JoGrdy dodd?
Options : |
| % 400 kJmol™



o L I -1
" 325 klmol
3 % 475 kJmol™

4 % 385 kImol™
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A 1.0 L of aqueous solution contains 1 x 10° M NaBr, 1 x 10" M NaCl and 1 x 107
M Nal. To this solution. 1 x 10™° M aqueous AgNO; solution is added drop wise.
The order of precipitation of Ag X ( X =CL Br. I) is

(Ksp (AgCD=1.8=10"; Ksp (AgBr) =5x 10™; Kgp (Ag) =83 x 107)

28 1.0 L 20 grodmoes® 1 x 10° M NaBr. 1 x 10° M NaCl 208030 1 x 10° M Nal
a0, & madd 1 x 1077 M AgNO; 20 mromrd) Docod) (drop wise) ©
Grio &8 D>, AgX (X =CLBrI) e85 Do) $3020

(Ksp (AgCD) =1.8 =107 Kgp (AgBr) =5 x 10" Kep (AgD) =8.3x 10™)

Options :
| % AgBr. AgCL Agl

, » AgCl AgBr. Agl

3.« Agl. AgBr. AgCl



4 % AgBr. Agl, AgCl

Question Number : 133 Question Id : 4387197173 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The conjugate base of NH3 1s
WNH;3 D?u.'négj ﬁumﬁ& 0o
Options :

1% NH,

> » NH4OH
3 NH,

4, % NH,

Question Number : 134 Question Id : 4387197174 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The general formula of zeolite 1s Na,Z. In this *Z’ represents
2000TE Lo &d}éw Na:Z &2e5° ‘7 & 2rQoetdE.

Options :
y Al SIIEOE. ?«:H;O
1. %

) % 45513 SizOg. ?{HQO

3 Alg 51303 ?{HQO



, % AlOy xH,0

Question Number : 135 Question Id : 4387197175 Display Question Number
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following salts form hydrates?

$08 LIRS D) FTED A DBYEOFTOW.

CaCl,

I
Options :
III. TV. V only

| % IIL IV. V &g

IL. III. IV only

) % IT. ITL IV Arado

IL IIL. V only
I1. I11. V &g

3. %

L III. TV only

4 L IIL IV 2dogao

NaCl LiCl BaCl;

I 111 IV

: Yes Is Question Mandatory : No Calculator : None

KClI
vV

Question Number : 136 Question Id : 4387197176 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following

List — 1 List — 11
I) CaSOy. 2H,O A) Knee cement
II) CaS0Oy4. 0.5H,0 B) Gypsum
III) CaSO4 () Plaster of Paris
D) Dead burnt plaster
Sofd T 2 HONd.
I | 08 —II
4] 5]
I) CaS0Oy. 2H,0 A) Knee S2008d
IT) CaS0Oy. 0.5H,0 B) &0y
IIT) CaSO4 C) é“‘é}}ﬁ D 8D
D) && &b é“fﬁﬁ
Options :

| x 1=B; I-C: NI-A
, =B II-C: T-D
; % I-B; I-A: TII-D
4w B=ATESDUTE-C

Question Number : 137 Question Id : 4387197177 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



For which of the following +3 oxidation state 1s highly oxidizing in character?
Sod T83e5° B +3 aéﬁfjm DDE v e.&ébﬂdea S°08 VEFT VY 5? Eotod?

Options :
1. % 4%]

" Ga

- In

1w Tl

Question Number : 138 Question Id : 4387197178 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Silicon (IV) chloride on hydrolysis gives an acid X. The munber -OH groups present
in X 1s

290 (IV) §0& 20 Didmo Dod X o) edvo & 9008, X 2069 -OH

DTSty *rboa:aé

Options :
1. ® 2



Question Number : 139 Question Id : 4387197179 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The TUPAC name of the following compound is

Sod ‘r'b;i::'é’#éa dBws), IUPAC T°00.

-~

~
/ CN
Options :

2-Ethyl-2-methyl cyclobutane-1-carbonitrile

2-38S -2 - @S 2F ared - 1 -5, 25
1. -

2-Methyl-2-ethyl cvelobutane-1-carbonitrile

2 - pS - 2 —9pd 28 arEd - 1 - 586, 206

2-Methyl-2-ethyl cyeclobutyl-1-cyanide

2 - 03S —2 - 3PS PE (06 — 1 — DODRE
3. %

1-Cyano-2-methyl-2-ethyl cyclobutane

1 — 2o S — 2 — DFS — 2 — 23S pE wrEed

Question Number : 140 Question Id : 4387197180 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



One mol of 2-Methylbuta-1. 3-diene on ozonolysis gives
28 TS 2 — FS ar(er — 1.3 — Zowrd & 5,8°Ds6e0 (ozonolysis) Mo
D36 DBHED.

Options :
2 moles of methanal and 1 mole of propanone

2 2 © TS, 1 2S5 THID

2 moles of methanal and 1 mole of 2-ketopropanal

2 ArS 0 DATS, 1 DS 2- 385 oo

1 mole of methanal 1 mole of ethanol. and 1mole of propanone

1 2 DETS, 1 ard TS, 1 ared FHIdD
2 moles of ethanal and 1 mole of 2-ketopropanal

2 DS © BT, 1 S 2- 8¢5° VDTS

Question Number : 141 Question Id : 4387197181 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A and B atoms 1 a crystal are positioned at the corners and face centers respectively.
What is the formula of the crystal?

w8 'rb:}e.":‘)s:wﬁﬁ A S00050 B 2058 s0)e0 SR Sorere) Sudodn DS Sorrws

€35 VOEDLIT™) 0. DS évméef A7
Options :

1. ® A

) % AB,

3. v ABs

4 % A28

Question Number : 142 Question Id : 4387197182 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a crystal lattice. anions A forms hcp array. 2/3 of the tetrahedral voids are
occupied by cations C. What 1s the formula of crvstal?

208 DS 2rwSee”. DVOITRAN A. hep 08880 6T 0. Secsrdoen C. 2/35

Hod) BEFITES Cofru) BENOETON. NS Frd ur DB?
Options :

1. % C13A~4

2 o Cafs



3 % CaAs

4. % CsAz

Question Number : 143 Question Id : 4387197183 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At T(K) the molarity of CO,(in mol L") in 200 mL of soda water packed under a
pressure of 3.4 bar 1s (Kg of CO» in water 1s 1.7X10° bar at T(K))
T(K) 3¢ 3.4 bar G006 v 83 200 mL Terdwys’D CO, 2werds (mol L°

o659 (T(K) 56 5H635° COy & Ky = 1.7X10° bar)
Options :
2.0X107

1. %

1.11X10™"
2.

2.22X10™

5.1X107

Question Number : 144 Question Id : 4387197184 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The depression in freezing point of solution of molality 0.01 mol kg™ is highest with
respect to which of the solvent? (Whose Ky is given 1s brackets)

808 O T3, oo 20erd 0.01 mol kg M &) 1N ABR 2IBDD T

D0 & Gotwod. (Traded Kr Dewd er3e) &° R cdd)
Options :
Water (1.86)
- D& (1.86)

Benzene (5.12)
5 % 8022 (5.12)

Carbon tetrachloride (31.8)
L o TP 0§ (31.8)

Cyclohexane (20.0)

L x 2§ 843 (20.0)

Question Number : 145 Question Id : 4387197185 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the total charge of one mole of electrons?

1 276 QUTQ 2GS0 D% Jod?
Options :

9.65X10* C
1. ¢



, x 9:65X10°C

;. » 193X 10°C

, % 1.602X 107 C

Question Number : 146 Question Id : 4387197186 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P—Q 1s a zero order reaction. If the concentration of P decreases from 0.1 M to
0.05 M 1 10 seconds. the concentration of P after 15 seconds time is

P—=Q 038 s %‘J"é}g ST 05 r.‘.ﬁtjé. 10 1:15@955 P rrged 0.1 M 2ooc. 0.05 M s

@Qcﬁe‘x‘)tﬁs. 15 283 s"wo SUS P
Options :
0.05M

1. ®
, » 0.025M
5 % 0.02M

4 % 0.01M

Question Number : 147 Question Id : 4387197187 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Assertion (A) :- Adsorption is an exothermic process

Reason (R) : - Physisorption of a gas on a solid surface is normally reversible

DI B0 (A) : ©BFTDEe 28 SRITHS DI
506620 (R) : 202 &083w0 P TOI0D) TS QT TS

&5{1@ I-b&e;!"';ﬁc Eotwob.
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| % AD0B050 R 20 Bt RPN 0805w A O R RDBowDd D568

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
- A 20Bain R &0 S0 2801080 570 A SO R 2000 D50 S°e.

(A) 1s correct but (R) 1s incorrect

s x ARDONDE 572 R 200006 s76.

(A) 1s mcorrect but (R) 1s correct

4 x ARDONIE 7L 572 R 2dgowb.

Question Number : 148 Question Id : 4387197188 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



When a dilute AgNO; solution 1s mixed with excess of dilute KI, the colloidal
solution formed is

wos 0D KI mraerdd. DD AgNO; mamrd) Dby @ D6\E Fegrond

9890 A7
Options :

|, AgNOST

) w Agl

Ag TAg”
3. &

4 o AelT

Question Number : 149 Question Id : 4387197189 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The element that can form multiple bonds with itself from the following is
$od TOS" D Arwte TS D LITPLECITVRL D6y GBALEL?

Options :

| % Antimony

, w Arsenic

3 % Phosphorus

4 « Nitrogen



Question Number : 150 Question Id : 4387197190 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one among the following has the ~“S-0-S” bonding?

ol BS° S-0-S oo Eotwod?
Options :
| % H2S20s

, s H2$)0s

Question Number : 151 Question Id : 4387197191 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High second 1onization enthalpies than expected are observed for
208 D AUV Grodd T ol RS ABOD 9030 DE60 é}ocf@bw

€otIro2?
Options :

| % Ti. Zn

) % Mn. Fe

V., Ni

3. %



4 Cr. Cu

Question Number : 152 Question Id : 4387197192 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The TUPAC name of the following complex 1s
[C}"{JMHE)E {HEO}ECHCEE

$08 Do3N0 g, [UPAC D 8?
[Cr{.NHE)E‘.{:HEO}ECHCEZ

Options :

Triamminediaqua chlorido chromium (IIT) chloride

DD & 57 §o& Foando (1) §0&
LY = '

Diaquatriammine chlorido chromium (IIT) chloride

& 5] SIS §o8 § e (D) §8&

Chlorido diaquatriammine chromium (IIT) chloride

3,

o& & e35° SIS §vabo (IIT) §2&

Triammune diaqua trichlorido chromium (IIT)

SIS & 557 HEBE & oo (I1)
4. % = =R



Question Number : 153 Question Id : 4387197193 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following amino acid is optically inactive?
|B3cd AV B0 oo |giadd Sr8w?
Options :
Glycine
=4
v 359

Proline
) % (EFOS

Tyrosine

; % BSOS

Alanine

4. ® QE}EE

Question Number : 154 Question Id : 4387197194 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Hydrolysis of which of the following nucleic acids does not give equal number of A
and T or Gand C

a)m— RNA b)single strand DNA c¢)r—RNA d) double helix DNA
Bob & SrgBont edre zedfied® A Stds T o G %ean C o 8508 Somgs® wfd?

a)m—RNA b)z¥ o) DNA  ¢)r—RNA d) Z=wd 3705 DNA



Options :

- (a). (b). (c)

(b). (c). (d)
2. ®

(b) only
(l_'!:} é:..-"“:ﬁci‘

3. %
(a) only

. (a) Srgss

Question Number : 155 Question Id : 4387197195 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chloroform is the presence of light slowly oxidized by air to form

LIS Tos Suod® mod o edisno Bo8 329 S ES00?
Options :



M

H Cl
3. %

4 % CH;-OH

Question Number : 156 Question Id : 4387197196 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product

Cl
= () HNO3 Conc HESDL 5
& | (ii) NaOH, 443K
(iii) H,O*
[BEes |Sciredyiy Wiodod.
Cl
f/,,ln_x (i) HNO3 & HaS04 . 2

LL/U (i) NaOH, 443K
(iii) H,O"
Options :

T

T

OH



‘"
A _NO,
T

3.8
f}];DH
11“;

Question Number : 157 Question Id : 4387197197 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents correct structure of Resorcinol
$o8 TS° DO BIH\IS 2P AT e AEDRWS?

4. v OoN

Options :
OH



Question Number : 158 Question Id : 4387197198 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct reagent for Etard reaction.
BEF 6 WE(S VB 575" LBotdod.

Options :
CrQ; Cl, H:O"
1. ¢

Pd - BaSOy,

2. %

~ CrO;. H30™
3. %

4 % SnCl,. HCI

Question Number : 159 Question Id : 4387197199 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



An organic compound (A) on ozonolysis followed by treatment with Zinc dust and
water give product P. which can be used to preserve biological specimens. Identify A

28 S63D DDLFH0 (A) B LETILD BD ST S wof T 2B ABE By

280 %Oﬁ“a&t’%c P & fa&ao&, AN AIDAFT O Qo GoTT S

EDOITATE. A DO Botied.
Options :
HaCo CHj

CH,=CH,

\;‘4.-"

(]
4. %

Question Number : 160 Question Id : 4387197200 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Identify X and Y of the following reaction sequence

NO>

(i) Ho/Pd

i
U (i) (CH3C0O),0, Pyridine

Sod 1;50“55533:3?552} X 0800 Y e h8otied..

NO;

1. ®

(i) Ha/Pd

L

(ii) (CH3C0),0, 284S

NH,

ﬁh

:
COCH,

NHOCOCH,

E‘H
L

NHOCOCH;

b,

5

-~

-

X

(i) Br,/CH,COOH

(i) Hy0"

-

(ii) CHCl5, KOH, A

(i) Bro/CH3COOH

X

(ii) H3O"

:
(i) CHCla, KOH, A

Y

Y



NHOCOCH,

NC

Br



